
6.7 ‐ The Binomial Theorem

Investigate the expansion of:

In general:

(a + b)3
You have actually used this theorem before...
(a + b)2

Coefficients
n value

(exponent) (a + b)n

(a + b)4



(a + b)n

=

The coefficients are the values of 
row n in Pascal's Triangle (where n 
is the exponent to which the binomial is 
being raised).

a)  (a + b)6

The binomial theorem is used to expand (a + b)n.

The Binomial Theorem 

Ex. 1  Expand each of the following :

b)  (x ‐ 2)4



c)  The first 3 terms of 

     (3x +2y)5

d)  



e)  The first four terms of 

Ex. 2 Write  1 + 12x3 + 54x6 + 108x9 + 81x12 in the form (a+b)n
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